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2'4|'|"E,'a:b:c:d=\/Z:\/g:s/izs/I,?ﬁ
(—a2+b2+c2+d2)

T HE TR 2
(@2 - b2 + 2 —d%)

(a).45%
(b) 2
e} 3
d 6

Wmiﬁﬂﬁ2u,3u,4u3ﬂ‘(xu%3ﬁ?m
T §OE gl B T B O @ T e

SHUNT: xt, 4, 3t 3 2t B, &l x, u, t IEATH

&I § | x 1 HF TR ?

g -8
(b) 6
(0 b
d 2

G m:n=1:2 3 p:q=38:4, @
(2m + 4p) : (n + 3q) foFas TR B 2
e B

(b) . 1:3

(@) 21

@ 2:3

afe =S 1 R 5% B, A T 10,000 (I3F) HI
TS W 3§ 396 F oG fem et wshafg
S 3R YR 419 o st fhaT 3iat 8T 2

(a) ¥ 17525

(b) ¥ 152:25
(¢) T 17625
d <2425

(2-A)

T SAfth 4 TH JEIh 36 geleg 9ed % 3/4th
e @it o 0 WS gelag g ¥ 50%
it W a9 f@n | 5| wa-ew ¥ i @
R ?

(a) 20%
(b) 40%
© 75%

(d) 100%

I TF T TEYS H Aq:H0 R sfEshioi
o9 1 SR 144° 3, A YW h yonsii H
e fohaeft 8 2

(a) 12
(b) 16
(e) +18
(d 20

afe s fguma i & gl 1 amea o
TUHHS A 2 3R — 100 B, @ Fr=fafea & @
HI-T7 TE B ?

(a) T T IFdq: sga-d & fms qo
[EERN

(b) TET FaA TH & whew 7 S fE
x2+2x-100=0 % |

() UHT Hhael TH & gl 2 S f
x2-2x-100=0 2 |

(@) U HIS gefieTor TE R |
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If a:b:c:d=+4 :+4/3: V2 ﬁ,thenwhat
(—a2+b2+c2+d2) pt
(@2 -b%4+c2=d2

is the value of

)1
b 2
fe) 3
d 6

The speeds of four cars are 2u, 3u, 4u and xu
and the time taken by them to cover the same
distance is xt, 4t, 3t and 2t respectively, where

X, u, t are real numbers. What is the value of
X7

(a) 8

(b) 6

() 5

d 2

If m:n=1:2 and p:q=3:4, then what is
(2m + 4p) : (n + 3q) equal to ?

w11
b 18
e 2:1
d 2:3

If the rate of interest is 5%, then what would
be the difference between compound interest
and simple interest received on ¥ 10,000

(each) after 3 years from now ?

(a) T 17525
(b) T 152:25
(0 T 7625
(d T 2425

5.

(3-A)

A person bought a book at 3/4% of its listed
price and sold it at 50% more than its listed
price. What is the percentage of gain in the

transaction ?

(a) 20%
(b) 40%
(e 75%
(d 100%

If the difference between the interior and
exterior angles of a regular polygon is 144°,

then what is the number of sides of the

polygon ?
(a) 12
(b) 16
(¢) 18
(d 20

If the sum and product of the roots of a
2 and -100

respectively, then which one of the following is

quadratic equation are

correct ?

(a) There such

equations having different roots.

are infinitely many

(b) There is only one such equation which is
x2 +2x-100 = 0.

(¢) There is only one such equation which is
x2~2x =100 =0.

(d) There is no such equation.




8.
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aﬁ2,a§q_f«'p(x)=x3+3x2-—6x—a€ﬂ@

Y R, A WIS F I YH F a0
TS T R ?

(a) 10
(h) " A7
(e 21
(d) 37

M t = cos 79°, A cosec 79°(1 — cos 79°) Thah
TR ? '

1+t
) s
e

(b)

10. 7 AR px) = x* + agx + ax® + agx + ag

3R q(x) = x* + byx3 +b2x2+b1x+b03§‘13§ |
e a, B, v, 8, p(x) H IH & 3K o, B, 1, 4, q(x)

& = = p(x) — q(x)
g - Ex-B -y
T B 2

@ =A+9d
(b) A-95
e A+d

) k-8

11.

12.

13.

14.

(4-A)

aﬁaﬁme%fmaﬁoaas%,wﬁm
x cos 0 = x2 + p H dAGH TA 8,
fefafa d a s mad 2 2

(a) p=1/8

(b) p<1/8

(0 p21/8

(d p<1/4

cos” 0 + 3 sin® 0 + 2 % IFfHaW A N =Fan
A % offe T 37T = R 2

(a)
(b)
(c)
(d)

= N W

ABC T& 98 33 8, St B W 990 ®, 39
YR fF AB=6cm 3N BC=8cm & | 39
s ABC & i sifteraw &wa ot &t
1 i 47 R 2

(a) 24/7cm

(b) 96/7cm

(¢) 24cm

(d 32cm

k %1 iferehan o #n 2 fred g
2x? —4x +k =0 % U IRl & ?
(a) el

b)) 2

©-:3

d 4



8.  If2is a zero of the polynomial 11. If the equation x cos 6 = x2 + p has a real
P = x° + 3x” — 6x — a, then what is the sum solution for every 6 where 0 < 6 < =, then
of the squares of the other zeros of the 18 4
which one of the following is correct ?

polynomial ?

() p=1/8
™ '10 (b) p=<1/8
e @© p21/8
e 21 @ p<1 /4'
d 37

12. What is° the difference between the
9. If t=cos 79°, then what is greatest value and the least value of

2 2 9
cosec 79° (1 — cos 79°) equal to ? cos“0 +3sin“0 + 2 7

(a) 4
O
Pt (b) 3
= ¢ & 2
1—t2 (die ol
0 o 13. ABC is a right-angled triangle, right-angled at
t B such that AB = 6 cm and BC = 8 cm. What is
W the perimeter of the square inscribed in the
o 4 S S triangle ABC with maximum area ?
(a) 24/7cm
10. Suppose p(x) = x* + agx® + a,x% + a,x + a, and (b) 96/7 cm
qx) = x* + b3x3 + b2x2 + b;x + b, are the (¢) 24 cm
polynomials. If o, B, v, 8 are zeros of p(x) and d 32cm
o, B, v, A are zeros of q(x), then what is
p(x) — q(x) equal to ? 14. What is the greatest value of k for which
E-a)x-BxE-17) 9
2x“ —4x + k = 0 has real roots ?
(@ -A+9d :
(e i
(b) A-3 ® 2
() A+9 (¢)- «'3
R @ 4

SRSU-T-EMT (5-A)



15.

16.

17.

SRSU-T-EMT

Frafafga g w fomm s .
110, 41, 43, 95, 127, 99, 61, 92, 71, 93, 110, 36.

afd 93 %! 94 & 5w feam wman B, @ Fr=fifaa
HeAt 1 fomm Hifdw

1. 7% Arfern i QU Wiy % ot @
AR 1R |

2. ¢ AT R YUH HIET & = H1 IF 0-1
qHIR

3. U 9gA%H 3R T 9§ & s 1 A
IR

3Tk HoHl § § HH-A T B 2
(a) Had 137K 2

(b) Had 23R 3

() Had 133

@ 1,23W3

T (225)%0F 1007 TIF W BT 3 B ?
(a) 6
(b) 5
() 4

d 2

I a, b, ¢, d TP TEW ¥, @ &
12 + 2P 4 3¢ 4 4d ) 10 ¥ Tl fomam s, &
fopem wwfaa et & Gehd & 2

(a) 3

(b) 4

(e).~:b

d 6

18.

19.

20.

(6-A)

Ife n T gAYUl G B, Al n % fAftm wE %
T, 42 + 67 + 90 4+ 112 1 10 ¥ fawim @

T T aeft i Sawet 1 Aher =R 2
(a) 3
b) 4
(c)i: 6
(d)e

9 HEAT (12345678910111213 ... 99100) T 16
g fawfoa foran stw, @ Swwer &= g 2

(a) 15
b) 12
(0 4
(d 3

A, B, C, D T&% % &I HAW: 3, 6, 9, 12 T3l |
U FHA 3 | 39 AfANH, Th & g0 W
TI% HeT had T & ARk hM H Gehdl B
3R #E off =afes omar @ 2 W T W
Hehdl | I8 AEvTS 81 & fF ot 1 wm w
ST S | M B G A H 1Y 378 =
ferem =2 =t 2

(a) 36/25
(b) 12/5
(o 4

d 2



15.

16.

17.

Consider the following data :
110, 41, 43, 95, 127, 99, 61, 92, 71, 93, 110, 36.

If 93 is replaced by 94, then consider the
following statements :

14 The difference between new median and

old median is 1.

2: The difference between new mean and
old mean is less than 0-1.

3. The difference between new mode and
old mode is zero.

Which of the statements given above are
correct ?

(a) 1land2only
(b) 2and 3only
(¢0 1and3only
(d 1,2and3

What is the digit at the 1002 place of number
(225)%0?

(a) 6
b 5
() 4
d 2

If a, b, ¢, d are natural numbers, then how
many possible remainders are there when
12 + 2P + 3¢ + 44 is divided by 10 ?

(a) - -3
b) 4
(c). .5
(d) 6
SRSU-T-EMT

18. .

19.

20.

(7T=A)

If n is a natural number, then what is the sum
of all distinct remainders of 4™ + 6™ + 9" + 11"

when divided by 10 for various values of n ?

(a). 3
b 4
(c)-'6
() 27
When the number

(12345678910111213 ... 99100) is divided by
16, what will be the remainder ?

(a) 15
(b) 12
(¢ 4
d 3

A, B, C, D can complete a work in 3, 6, 9,
12 hours respectively. Further, only one
person can work at a time in each hour and
nobody can work for two consecutive hours. It
is not necessary to engage all. What is the
minimum number of hours that they will take
to finish the work ?

(a) 36/25
(b) 12/5
() 4

@ 2




21. AR p = ?/(“m)’f%/(a-\/m),%' 39 YR hH AYIH G901 T n BH-H B fR

mM+Dxnxm-1D)xm-2)x..3x2x1,
p? + 3bp TorEeh s 2 2

910 ¥ WIS & ?
(a) -2a (@) 91
(b) a (b) 90
() 2a () 13
d 3a d 12

22. 425 m @ 3N 3-4 m TS TH FHS & a&A B
U ’THR & FHR Thel § Hel JIHT 2 |
af foreft ft yohR % arvemy H agwly & R,
@ T F A g 92 AR b e e 2

26. ASH 555777 + 777555 frafafes § @ frow
i R

TH FR W § 2 A ¥
8 8y
(a) 45 Frat faw M gz 1 i W s gh
(b 90 (a) aet 1 3 2
() 400 (b) a2 3R 3
d 500 (c) had 13 3
d 1,23MW3

23. x* - 13x%2 - 300y%, x° - 4x%y — 4xy? - 5y3

3 x3 - 125y3 T HCF &1 & ? :
27. fr=fafas et w fomm Hifv

(a) x-b5y
3 ’Jﬁ(3m3+2m2+5m+n)/m@,‘£’ﬁ$

() x+5y TR, B mM s &, Ao, mA

(¢) %2+ 5xy + 25y2 o T8 & |

;% 2. 5@8™) + 23m @t i Heelt m % for,
24. I waql gEmati x> 2, y > 2% forw, 768 ik 489 WA § |

x8y? 1 HCF 32xy B, Tl (x +y) &1 AH F1 & ? S o & A A T A

(@ 5 (a) hadl 1

(b) 7 (b) a2

o o © 13N 2g

@ 11 d AW 1,Td2

SRSU-T-EMT (8-A)



21.

22,

23.

24.

If p= i\il(a+\/m)+i\3/(a—\/a2-+_lﬂ),

then what is p> + 3bp equal to ?

(a) -2a
b) a

() 2a
(d 3a

A plank of wood 4:25 m long and 3-4 m wide is
to be cut into square pieces of equal size. How
many square pieces of largest size can be cut

from the plank, if no wastage is allowed ?

(a) 45
(b) 90
(c) 400
(d) 500

What is the HCF of x* - 13x%? - 300y*,
x5 — 4x2%y — 4xy? — 5y3 and x3 - 125y3 ?

(a)
(b)
(¢) %2+ 5xy + 25y2

X — By
X + 5y
) 1

If HCF of 768 and x8y? is 32xy for natural

numbers x > 2, y > 2, then what is the value of

x+y)?
(@ 5
7
&) 8
d 1
SRSU-T-EMT

25.

26.

|27,

(9-A)

What is the smallest natural number n such
that (n + 1)xnx(n—1)x(n—2)><...3x2x.1
is divisible by 910 ?

(a) 91

(b) 90

) 18

d 12

The expression 555777 + 777555 is divisible by
which of the following ?

1.77+72

2.5y

3. 87

Select the correct answer using the code given
below :

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

Consider the following statements :

1, If 3m3 + 2m? + 5m + n)/m is not an
integer, where m and n are integers,

then n is not divisible by m.

2. 5(8™) + 23™ jg divisible by 48 for all

whole numbers m.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2



28.

29.

30.

SRSU-T-EMT

A YT TEAIST P ANTEA 40 R | AR T @
&3 1 GM 39 AM ¥ 20% 0 8, A 37 a1
eI & o T AR R ?

(a).. 312
(b) 18
(c) 24

(d) 28

50 SAfth Ueh T I 40 feT H qU o THd 7 |
q TH 919 HW YE B 7 | I3H 10 e 6
Faftr &% =g 5 ARl Il T el FHH B Tt
2 | %W I U B4 | R ww @ 2

45
b 50f&
© 55T
60 fea

(a)

(d)

6 +
8+2
10

at frfafea & @ S99 @& & 2

(@ 0<x<05

(b): “x=05
@):-20:9cx<10

(d): >0

31.

32.

33.

(10-A)

% siaa # fafte o gt 1: 4 % e § #
IR TH I wEEY Saa § fofe o urh
4:1% UG 8 § | F  daai & WO B
fopa aruma § faeman Sme & us v = Mo
e & forad feafe &1 ot & egua 1:3 & 2

(a) 031
(b} 6:1
(e). < 30: 1
(d) LIl

Ife 3sin0+5cos0=5, A 5sin0—3cos o
ST HH FT 8 ?

(a) -3
b)) -2
(0 5
d 8

a’gqa X4k + x4k+2 i x4k+4 i x4k+6 % m ﬁ
frefefiga w famm Hifse .

1. 99 9598 W x2 + 1§ fawfoa feman smg
@ A I B |

2. & Fgg A x + 18 fawfsa e S
@ ANHA I R |

3Tk AT § A HH-FT/HH-H TE 2/2 2

(a) had 1

(b) HaA 2

() 13 23

@ JTALAdE2



28. The sum of two positive numbers is 40. If the
GM of these two numbers is lower than their
AM by 20%, then what is the difference
between the two numbers ?
(a) 12
(). 18
() 24
d 28
29. 50 men can complete a work in 40 days. They
begin the work together but a batch of 5 men
left after each period of 10 days. What is the
time to complete the work ?
(a) 45days
(b) 50 days
(c) bH5days
(d) 60days
30. Hix = : ’
3
24 s
5
4+
7
6+ 9
8+—
10
then which one of the following is correct ?
(a) 0<x<05
) xi=0"5
(o) 105 <x<1:0
@) . x>1:0
SRSU-T-EMT

31.

32.

33.

(11=-A)

A bottle contains spirit and water in the ratio
1 : 4 and another identical bottle contains
spirit and water in the ratio 4 : 1. In what
ratio should the mixtures in the two bottles be
mixed to get a new mixture in which the ratio

of spirit to wateris 1:3 ?

(a), +B)
()-8t
(e 3 1l
@) * 1¥#1

If 3sin O + 5 cos 6 =5, then what is the value
of 5sin®—-3cos 6 ?

(@ -8
(b) -2
() B
d 8

Consider the following in respect of the

x4k 4k+2 + x4k+4 + x4k+6 .

polynomial + X

il The remainder is zero when the

polynomial is divided by x2+1.

2: The remainder is zero when the

polynomial is divided by x* + 1.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2



34.

35.

36.

37.

SRSU-T-EMT

: 2. 9 . y
T %‘%{Q, sin A+.5s1nA+1 o
2 sin A

AqH T T8 2
(a) 3

(b)
(c)
)

© 3 O,

g e A o
12 x 22 22 x 32 32x 42
T B ?
{a)
(b) 4
(c)v 7
d 9

1
R ) |

e : )
o 11 972
b +

G

d+l
e

@ axbxcxdxe HHAA TS ?
(a) 1720

(b) 480

(¢) 360

(d 60

T 99 %, FEE FT 14 em A9 2, TS9O

' e W 7 em B #1 wE 9@ g, R fid @

¥ @ T mn & | fomn @ o gR g @ @
mw%?(m%a‘lﬁq)

(a) 1263 em
(b)
(¢ 252 cm
(@

189 T cm

31591 cm

38.

39.

40.

(12-A)

7 em BT 3R 0-16 mm W St uig H T
JAHR @ ¥ T BouEs (%) e T R
s 150° &1 Hor B | STl gHS W r B
A Teh MATHR T § el T 8 | r 1 A1
cm® FTR 2

(a)
(b)
(© 105
d 14

0-35
0-7

T g formet g O 2, $6h! Sfia1 AB 36 @Y
G H FIE A 2/3 TR I AR PIW F
freor@s (A9eT) OAB 1 &9%d 2 3K Q 3q &
WY TS HT &% 7, ql % &1 GfFehe T F1
22

(V3 =173 n = 3-14 i)

(a)
(b)
(e) : 22
)

1-4
14

26

T "ehyl gl b T & &I H HABA F B,
ARy sridfes g0 6 afifyr # o fafie fig @
Y HA Al I g A T S f A
14cm%?(n=%?ﬁﬁﬂ{)

(a) 15491 cm

(b) 144 97 cm
(¢) 132 cm

I 21 & wHrv fFuifa T8 fomm
Hehdl

(d)



34.

35.

36.

37.

SRSU-T-EMT

What is  the minimum value of

B ;
sin® A+5sinA+1 PG WD

27
sin A 2

(a) 3
(b) 5
e} 7
d 9

What is 3 + 9 + £ + .

12 x 22 92 » 32 32 x 42

equal to "
a1

(b) 4
.. 1
d 9

If =
at————
b+

c+

d+l
e

then what is the value of axbxcxdxe?
(a) 720

(b) 480

() 360

(d) 60

A cube whose edge is 14 cm long has on each
of its faces a circle of 7 ¢cm radius painted

yellow. What is the total area of unpainted
surface ? (Take n = 272 )

(a) 126 square cm
(b) 189 square cm
(c) 252 square cm

(d) 315 square cm

38.

39.

40.

(13-A)

From a circular metal plate of radius 7 cm and
thickness 0-16 mm,

containing an angle 150°. The remaining piece

a sector is cut off

is moulded into a spherical bead of radius r.
What is the value of r in cm ?

(a) 035
(b 07
(¢ 105
d 14

The chord AB of a circle with centre at O is
2.3 times the height of the minor segment. If

P is the area of the sector OAB and Q is the

area of the minor segment of the circle, then

~ what is the approximate value of % 2

(Take +/3 =17 and 7 = 3:14)

(a) 14
b 17
(c) o 122
(d 26

What is the area of the region between two
concentric circles, if the length of a chord of
the outer circle touching the inner circle at a
particular point of its circumference is 14 cm /4
(Take mt = 22 )
7

(a) 154 square cm

(b) 144 square cm

(c) 132 square cm

due to

(d) Cannot be determined

insufficient data



41.

42,

43.

SRSU-T-EMT

T e Y9 ABC #, AB =
BC = 20 cm 3 AC = 25 cm & | 6% el
BP, AC W &« & | fyi PAB 3k PCB %
GIABE § AT I B 2

(@) 40T em

(b)
(c)
@

15 cm,

42 91 cm
45 91 cm
48 cm

WM A eI §T ay, ay, ag, ..., ag, GP
4813k P, ay, ay, ag, ..., a, B GM ¥ 3k

Q, An41> 8p42s 8ny3s ooy 8gy Pl GM %, ?'h 3n
T3 T GM F1 8 2

(a) P2Q
PQ?

JPQ

P1/3 Q2/3

(b)

(c)

(d)

y TG H A YA, 2 TG b o g
%W% Iqﬁy:z=5:4,?ﬁm£f
SfcrsTaaT &= ] 2

(a) 20%

(b) 25%
(0 30%

(d 40%

44. YT N W AME TS TH GAURT 8 N1 §

45.

46.

47.

(14-A)

6
-(c) 7
8

ﬁgﬁﬁm%ﬁtzoaﬁﬁnﬂw‘§3ﬁ%|
n T HH 947 8 ?

(a) 5

(b) 6

(c)
d 9

e x =fRa g (x + 1) A § v @
(x + 5) SAREAT g (x - 2) &t & fopw T vy &
S B, o1 x T T FAT R 2

(a) 5
(b)

(d)

‘TE«'(a+b):(b+c):(c+a)=5:7:6,@
(a—b+c):(a+b—c)mmW%?

E AR s
b) 2:3
o) - 8:1
(d 4:3

74 AT T 1000 Hit gl W 10% A @
¥ &9 & FNfm wshaly s 3 @t & w1e
x 2 3R T 1000 H 4R | 11% Hit T =
QSHﬁ%WWWy% Ixﬁl’(y%
e R R 2

(a)
(b)
(c)
(d)

T 16
T 15
N0
=



41.

42.

43.
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 is the GM of a_,y, 85,9, 8p43 -

In a right-angled triangle ABC, AB = 15 cm,
BC = 20 ¢cm and AC = 25 cm. Further, BP is
the perpendicular on AC. What is the
difference in the area of triangles PAB and
PCB?

(a)

40 square cm
(b) 42 square cm
(c) 45 square cm

(d)

48 square cm

Let the positive numbers a;, ay, ag, ...., ag, be
in GP. If P is the GM of a;, ay, ag, ..., 3, and Q
ag,, then
what is the GM of 3n numbers ?

(@) P2Q
(b)

© PQ

PQ?

d) P1/3 Q?/3

The cost price of y articles is equal to selling
price of z articles. If y : z = 5 : 4, what is the

profit percentage ?
(a 20%
(b) 25%
(0 30%

(d 40%

45.

46.

47.

(15-A)

A sum of money invested at simple interest
triples itself in 8 years and becomes n times in

20 years. What is the value of n ?

(a 5
(b) 6
(@ 75
d e

If the work done by x men in (x + 1) days is
equal to the work done by (x + 5) men in
(x — 2) days, then what is the value of x ?

(@ b
(b) 6
() e
d 8

If(a+b):(b+c):(c+a)=5:7:6, then what
isthe valueof (@a—b+c¢):(a+b—-c¢)?

(g) ' Al
@) 2:8
Fi gV D ¢
d 4:3

Let x be the compound interest at the end of
3 years on a sum of ¥ 1000 at the rate of 10%
compounded annually and y be the simple
interest at the end of 3 years on a sum of
Z 1000 at the annual rate of 11%. What is the
difference between x and y ?

(a) T 16
). T 1o
@ E XS
(| Balk g



48. TH 9gHF ABCD #, AB = 6 cm, BC = 18 cm,

49.

50.

SRSU-T-EMT

CD = 6 cm 3R DA = 10 cm & | 3R faepol
BD=x @ fafifeqa 4 @ s-aradt & 2

(@) "8 <x<12
) A2 <x<16
{c): 116X <48
18 <x<20

(d)

R B a1 o g9 & =gate (F@ 9W) #,
r B aren uw Sieia g offen S 2 | R
r'@aﬁqmw%?

@ (V2 +1:1
®) (V3 +1):1
e): - 3:2
@ 5:4

T 9gHS ABCD #, AB = BC 3R CD = DA;
AC 3R BD fashvl 380 5R & % AC = 6 cm 3
BD=12cm® | g4 1 &% F1 & ?

(a) 241 cm
(b) 30 cm
() 36& cm

(d 409 em

51.

52.

53.

54.

(16-A)

M tan (3A) = cot (A — 22°), ST&T 3A Th =0T
®, @ AT UF 1R 2

(a)! .:25°
(b) ~27°
(c) 28°
(d 30°

sin ® —cos 0 +1

=psecO +qtan 0,
sin®+cosf-1 B A

Grs?0<9<%,a‘1 p +q TorEeh SR & 2

() 0
b 1
(e)ii =2
@ 4
6 m 1 S=TE a1t T T F o &, 3 fegad
AR BA, St T & MUK & x m 3N
(x + 5) m 1 g W & 3 3% T Th & WA
@ W R §, I9E B T g F TE §
X T HH T 8 2

(a) 4m
(b) 5m
(¢) 6m
d 9m

frfefaa ot w fomm Hifvm

1. us fiyw ABCH, afe
sinA+sinB+sinC=¥,?ﬁﬁ‘§Tﬂ
HHSTE B Hehell 2 |

2. UH s ABCH, afe
cosA+cosB+cosC=g,?hﬁ}FlW|§
& Fehl 2 |

?gaa T § A FHA/ERD o wd
°

(a/)§ e 1

(b) A 2

(¢) 13ﬂ'{2a'-ﬁ
(@ TFa 1,382




48. In a quadrilateral ABCD, AB = 6 cm,
BC =18 ¢cm, CD = 6 cm and DA = 10 cm. If the
diagonal BD = x, then which one of the
following is correct ?

(a) 8<x<12

(b) 12<x<16
() 16<x<18
(d): 18<x<20

49. In a quarter circle of radius R, a circle of
radius r is inscribed. What is the ratio of R
tor?

@ (V2 +1:1
(b) (V3 +1):1
(¢) 342
(d)e 5 4

50. In a quadrilateral ABCD, AB = BC and
CD = DA; AC and BD are diagonals such that
AC = 6 cm and BD = 12 cm. What is the area
of the quadrilateral ?

(a) 24 square cm
(b) 30 square cm
(¢) 36 square cm
(d) 40 square cm
SRSU-T-EMT

51.

52.

53.

54.

(A7.58A)

If tan (8A) = cot (A — 22°), where 3A is an
acute angle, then what is the value of A ?
(a) 4262

(b) :27%
() 282
d 30°

Ifw =psecH+qtan6,
sin®+cos6—-1

where 0<0 < g, then what is- p + q equal

to ? -
(a)
(b)
()
(d)

BN = O

The angles of elevation of the top of a tower
from two points A and B at a distance of x m
and (x + 5) m from the base of the tower of
height 6 m and in the same straight line with
it are complementary. What is the value of x ?

(a) 4m

(b) 5m
(¢ 6m
d 9m

Consider the following statements :
5 In a triangle ABC, if

% , then the

sin A + sin B +'sin BE=
triangle can be equilateral.

2.  In atriangle ABC, if
cos A + cos B + cos C = g, then the

triangle can be equilateral.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2



55. < temmfeai A 3 B feght @ fevee & fow ws

(a)

B &7 & 7:00 a.m. 3R 7:50 a.m. W @I Bt &
3T AT 80 kmph 3 100 kmph & FTft & |
feght @ foram fercidter & @1g A QT Temfeat
T |1y B St 2

@km
3

(b) 100 km

(c) ﬂkm

(d)

56. T TAH i @ETE, SSE MW FAE HAW: 10%,
20% 3 50% g8 ATt B | T % A §
fopaa wfcrera gfg &nft 2
(a) 100%

(b) 99%
() 98%
@ 50%

57. P,Q RT T 9400 39 YR §i¢ I & f& ARG
37 Tefa feedi § ¥ T 93, T 24, T 55 FA
X fou 9ma &, o 3T U g 3:4:5%
T | Tadt B | P o e e @ 2
(@) T 2307 ‘

(b) T 2376

) ¥ 2508

d T 2896
SRSU-T-EMT

58. If¢ P2, R % THEUNT 8 3R Q2 R & GHIUT!

59.

60.

(18-A)

2, (P=Q), @ Fr=forfiga & -8 @&l & 2
1. P2+Q%R% WY 9 § |

2. PQ,R% TIY 9gTdl B |

3. P2_Q%R% 9I¥ S ¢ |

Hia f2u 7 e 1 T W EE S g
Had 13K 2

(b) Had 230 3

(c) e 1313

1,2 3R 3

(a)

(d)

p WIS SAfth T HM Bl q fedl # U L wehd
& | 3fe 509 31feres =3tk &, @ M 12 a7 v
T B TN | q T 0H 18 2

(a) 48

(b) 40

(c) 36

A 22 & v fFuifa T8 e s
Hehal

(d)

2 2
a,b>0aﬁﬁﬂ [a +3a+1](b +3b+1]

a b
%1 =AdH HH F91 8 ?
@) 1
(b} 9
0 16
@ 25



55.

56.

517.

SRSU-T-EMT

Two trains A and B leave Delhi for Hyderabad
at 7:00 a.m. and 7:50 a.m. on the same day
at 80 kmph and 100 kmph
respectively. After how many kilometers from
Delhi will the two trains be together ?

and travel

Gk 2

(b)

(0 — km

d — km

The length, breadth and height of a cuboid are
increased by 10%, 20% and 50% respectively.
What is the percentage increase in volume of
the cuboid ?

(a) 100%
(b) 99%
(c) 98%

(d 50%

¥ 9400 is distributed among P, Q, R in such a
way that if ¥ 93, ¥ 24, T 55 are deducted

from their respective shares, then they have
money in the ratio 3 : 4 : 5. What is the share
of P?

(a) T 2307
(b) T 2376
() T 2508

(d T 2896

58.

59.

60.

(19-A)

If P2 varies as R and Q2 varies as R, (P # Q),

then which of the following are correct ?
3 P2+ Q2 varies as R.

2. PQ varies as R.

3. P2 - Q2 varies as R.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢c) 1and3only

(d 1,2and3

p number of men can finish a piece of work in
q days. If there are 50% more men, then the
work will be finished 12 days earlier. What is
the value of q ? »

(a) 48
(b) 40
(c): 36

Cannot be determined due to

insufficient data

(d)

2
What is the minimum value of [E_‘*_:;iﬂ]
a

[ﬁig—bil] fora,b>07?
@)zl
(b) 9
() 16
d 25



3T 37 I T (10) T & e Feaffea =
fa=am #ifs

61.

62.

63.

SRSU-T-EMT

T T # Uk 99 & e ae 3 e § |
ﬁmf%fﬁaaaa%sﬁwmwﬁgqmm
wwa"rﬁm:

ey

(a) 1 W HIVT AR I 1 IW, Fad
B YT HT bl ITANT FH AT ST Fohell
2, g g wom %1 Swam & 7 R s
a1 g |

1 =9 hifTT Ife I99 &1 I, 1§ I
el U oM o1 rhet 3w T T
Gehal & |

(c) =1 =3 HIVT Ife 97 1 IR, AT HoAT
H Th Y IFM HfeI S wewar @,
frg g9t & @ f5f w +o #1 el
SYAM X TET T S Hewar § |

1 994 IR I 997 1 I, AT Pl
H TH Y IFEN e off T8 femr o
el |

qﬁ?ﬁﬁQa,b,c@(dW{“ﬁ?%l
X : a,b,c,dﬁﬁaﬁ?-m,mabcda?
T8 wuTer e § 2

PIFI: a>b>c
FYLIL : c T8 BT T8 B |

(b)

(d)

W?ﬁﬁﬁmn:k,ﬁﬁmaﬁ'{nmﬁ@ﬁ
g 3R k9 T R |

X : mn—n + 15 G 71 8 ?

DHYII :
HYA-II :

m>n

T § 4 UH 28 |

aﬁpq:[tﬂ"ﬁﬂ?%,?‘ﬁpnﬁp+1@
fowfora @ w Swwer &= g 2

nd ? |

Y3 :

BHIFI :
BHIF1I :

64, ¥¥7: T xy UATHS & ?

pFlTT%I

(20-A)

66.

67.

PIFI: x=3 /—- 019683

FILI: y= Yx

65. WM ST a, b 3 ¢, Bys ABC # yomd # |

o7 W B wHeg @ 2
PITI : a2+b2+c2=(ab+bc+ca)

HYLIL : 3a2 + 3b2 + 4c? = 2ab + 4be + 4ca

AETE x AR AR y a1 Th AT HT SIBA P
8 3R x 3R y A i oy A
FOER 9qYS (St 9%qa: oFd T R) W+
I Q2 |

3T : M P>Q?

PIEL: x oy =2l

FYFI : THHTG TGS hl AT Horm Yo1aTt &
= T I 60°R |

T 96, TGS ABCD #t @vft Wi geedt AB,
BC, CD, DA ! €931 &%aT 8 |

o7 :  =gys w1 9iEy = g 2
#97I: AB+DC =10 cm

Y1l : AD + BC = 10 cm




Consider the following for the next ten (10) items
that follow :

Each item contains a Question followed by two
Statements. Answer each item wusing the
following instructions :

Choose option

(a) If the Question can be answered by one
of the Statements alone, but not by the
other.

(b) If the Question can be answered by
either Statement alone.

(¢) If the Question can be answered by
using both the Statements together, but
cannot be answered by using either
Statement alone.

(d) If the Question cannot be answered even
by using both Statements together.

61. Leta,b,cand d be positive integers.

Question : Which one of a, b, ¢, d is closest
to the product abed ?

Statement-I: a>b>c

Statement-II : c is not the smallest.

62. Let mn = k, where m and n are prime

numbers and k is an even number.

Question : What is the value of
mn-n+17?

Statement-I: m>n

Statement-II : One of the numbers is 2.

63. Question : If p is a positive integer, then
what is the remainder when p”
is divided byp+17?

Statement-I: nis even.
Statement-II : p is even.
SRSU-T-EMT

65.

66.

67.

(21K)

Question : Is xy positive ?

Statement-I: x= 3\/— 019683

Statement-1I : y = %/;

Let a, b and c be the sides of a triangle ABC.

Question : Is the triangle equilateral ?

Statement-I: a%+b%+c2=(ab +bc + ca)

Statement-II : 3aZ + 3b2 + 4c% = 2ab + 4bc + 4ca

Area of a rectangle with length x and
breadth y is P and area of a parallelogram
(which is strictly not a rectangle) with

adjacent sides of length x and y is Q.

Question : IsP>Q2?

Statement-I: x:y=2:1

Statement-II : The angle between the two

adjacent sides of  the

parallelogram is 60°.

A circle touches all the four sides AB, BC, CD,
DA of a quadrilateral ABCD.

What is the perimeter of the
quadrilateral ?

Question :

Statement-I: AB + DC =10 cm

Statement-II : AD + BC =10 cm



68. ¥¥7: U GHagyd & fawvi & o€ @5
JITT T R 2
FYEL: TH QUGS F1 UH ol gweht e
F S R |

FYFI: 30 THEYS H AE e aren
forepol saehl o 1 3 TR |

69. B R% w qu i S, r e & v waA
T A R o fag et A
1 TS 24 3H0E R |

b9 : raﬂtR%mw%?
HYLL: v TF QI 2 |

HYFI]: RTH QUITsh & |

P, Q, R, S W: TH FgHT ABCD I gt
AB, BC, CD, DA % wea.fig # |

70.

¥o7: 9949 ABCD % &a%a i =gy
PQRS % &7%c § &1 7R 2 ?

HYF1: FgHT ABCD 1 &% 100 I 3TS
2

FYEIL: FGYF PQRS FT &A% 50 a1 397
2
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(22

37 A qI F (02) T F fw Befie w
fa=r #ifse -

Qﬂ?ﬂ?ﬁ'@ﬁ@cmﬁwm),ﬁm%ﬁm
aﬁﬁwm2:3:7:5:l%l(n=%m)

71 AR P wER DR (AgaH) BeuEe 1 Sawd 2
ﬁ(Qmﬁ(W)ﬁW@EWWR
@ P+ Q fopms swrew 2 2
(a) %aﬁcm
77
(b) ?aﬁcm
149
(e) —G—Hﬁc
616
() T"=l’fc
72. AR 9@ BR () FswEs w1 ofem p §,

@l 9p T W T B 2
(a) 142cm
(b) 148 cm
(¢) 156 cm
(d 221cm

ST 37T FT @ (03) TN F forw BEfifye w
7%?7?5‘97%(’:

31 W@mfeat A 3R B %AW Ry P aik Q¥ TH W
& AR T@E IRY B ¥ | WD A, 7 pm. W
60 km/hr %1 7Ifd & Je 1 IRY A & 3 WS B
(3T &) 4 am. W 90 ke/hr Y 7Y & T@T WHRY
Fft B | GHi REl P 3R Q & e 1 gft 800 km
2

73. WM Q¥ fheft gt w AN Yemmieat firehft 2
(@ 104km
9~k
(o) - 156 km
(@ 504 km
A)




68. Question : What is the ratio of the lengths

of diagonals of a rhombus ?

Statement-I : One diagonal of the rhombus is
equal to its side.

Statement-II : The longer diagonal of the
rhombus is equal to \/5 times
its side.

69. The chord of a circle of radius R touches at a
point on the circumference of a concentric
circle of radius r. The length of the chord is
24 units.

Question : What are the values of r and
R?

Statement-I :  ris an integer.

Statement-II : R is an integer.

70. P, Q, R, S are the mid-points of sides AB, BC,
CD, DA respectively of a quadrilateral ABCD.
Question : What is the difference in the

area of the quadrilateral
ABCD and the area of the
quadrilateral PQRS ?

Statement-I: Area of the quadrilateral
ABCD is 100 square unit.

Statement-II : Area of the quadrilateral
PQRS is 50 square unit.

SRSU-T-EMT

Consider the following for the next two (02) items
that follow :

In a pie-diagram (with radius 7 cm), the central
angles of the sectors are in the ratio2:3:7:5: 1.

(Take 1= 22)
7

71. If P is the area of the smallest sector and Q is

the area of the largest sector, then what is

P + Qequal to ?

(a)

88
s square cm

(b)

77
% square cm

149
. square cm

Ay 5

616
i square cm

(c)
(d)

72. If p is the perimeter of the smallest sector,

then what is the value of 9p ?

(a) 142cm

(b) 148 cm

(¢) 156 cm

(d 221cm
Consider the following for the next three (03) items
that follow :

Two trains A and B started from stations P and Q
respectively towards each other. Train A started at
7 p.m. at a speed of 60 km/hr and train B started at
4 ‘a.m. (next day) at a speed of 90 km/hr. The
distance between the two stations P and Q is
800 km.

78. How far from station Q will the two trains

meet ?

(a) 104 km
(b)
()
(d)

144 km
156 km
504 km

(23-A)



74. QNI tonfeat fem wwa W fieid 2 76. aﬁw%amwé?

(a) 5:28 am. @ 222
17
(b) 5:44 a.m.
925 i
(¢) 4:56 a.m. 13
(d) 6:24am. © 2024 o o
17
75. 3G QA WA A 3k B #t weE Hom: @ %:wacm
400 m 3 500 m B, T 3= Th TR ' IR FW
o fera @ @ 2
. i 5
=i 77. tan o +tan p foFEs seR B
(b) 18-2 ¥shs i it
© 17-49%e 19
d) 154 8%s
b (b) %(5;

37 377 a1 AT (03) FFI F g AEfild w Y

faem #iforg 16
T &1 ABCD % 3t U fyw CEF @ian mr 2 S A |
% 19 @ 78 smpfa F fomrn w2 ) R 2 4

CF =8 cm, EF = 6 cm 3R CE = 10 cm.
78. T3S CDE %1 &wa 71 2 2

(a) —

() AR i g

13
F (e) @ Eu| cm
17
156
d)i et
o (d) i3 cm
B «

SRSU-T-EMT (24-A)




74. At what time will the two trains meet ?

(a) 5:28a.m.
(b) 5:44 a.m.
(¢) 4:56 a.m.
(d 6:24 am.

75. If the lengths of the two trains A and B are
400 m and 500 m respectively, then what is
the time taken by them to cross each other ?

(a) 216 seconds
(b) 18-2 seconds
(¢) 17-4 seconds

(d) 154 seconds

Consider the following for the next three (03) items

that follow :

A triangle CEF is drawn inside a square ABCD as
shown in the figure given below. Given : CF = 8 cm,
EF = 6 cm and CE = 10 cm.

A E

B

SRSU-T-EMT

76.

71.

78.

(25-A)

What is the area of the square ?

(a) e square cm
17

(b) % square cm

(c) e square cm
17

1296

(d) 13

square cm

What is tan o +tanp equal to?

13
(a) E
15
(b) 6
17
(c) E

1
(d) -

What is the area of triangle CDE ?

416

(a) F

square cm

312

(b) 13

square cm

208

(c) 17

square cm

156

(d) 13

square cm



ST 1 dI g (02) TR F frw Befifyd w

faaR #ifee :

ABCD T 3 & RSt &g 0 2 3 0C %t =g ot
Y, U ga i R R, e 6 A & v erfy &
fe@man mn 2 | 9=+ OB = 7 em.

D

79. SRR & 1 S T 2
(a) 385a em
(b)
(c)
G

483"‘f cm
52:5 3 cm
66531 cm

BRRNTA &3 % S%d & JWBENNG 83 %
SIGT A I TR 2
19
(a) %
18
25
17
25

16
25

80.

(b)

(c)

(d)

SRSU-T-EMT

37 S G F (02) T ¥ o REfied w
7%3775’9731(7:

HH ST g THi @EE PQ = 5 cm 3 RS = 3 em
@éﬁm%@%mﬁaﬁ,wﬁrﬁ%anﬁm
ﬁ%@TﬂTW%IPSaﬁTQRWWﬁgM%SﬂT

MN &9 8 QST |

I
R
M
4 Q RS T RS
81. MN %I &aTE 1 2 2

(a) g cm
(b) g em
(c) g cm
(d) 1‘?5 cm

82. WYY PQNM % #Ihei % =g RSNM &
TP | I T B 2

200

(a) 1_17

212

(b) 117

275

(c) Tﬁ

250

(d) 17

(26-A)




Consider the following for the next two (02) items
that follow :

ABCD is a circle with centre O and taking OC as a
diameter, a circle is drawn as shown in the figure

given below. Let OB = 7 cm. (Use nt = % )

B

D

79. What is the area of the shaded region ?

(a)

38-5 square cm

(b)

48 square cm

(¢) 52:5square cm

(d)

665 square cm

80. What is the ratio of the area of the shaded

region to the area of the non-shaded region ?

19
(a) 2—5
E
25
1_7_
25

(b)

(c)

16
(d) %5

SRSU-T-EMT (27

Consider the following for the next two (02) items
that follow :

Let two parallel line segments PQ = 5 cm and
RS = 3 cm be perpendicular to a horizontal line AB,
as shown in the figure given below. The point of
intersection of PS and QR is M and MN is
perpendicular to QS.

P

ek 4

Q N

81. What is the length of MN ?

(a)

o
B

(b)

|[¢© |t |
8

-

(c)

(d)

el . ®
o
B

82. What is the ratio of the area of the
quadrilateral PQNM to the area of the

quadrilateral RSNM ?

200

(a) 117

212

(b) 117

275

(c) i‘ﬁ

250

(d) 7

_A)



3T 377 FIA AT (03) T F o Feafea w
fa=er #ifse -

frfofan gore-1 faftm wredta o<t @ feght o wam
& I AT B g @ (P, Q 3R R o iy vy #
3T S =1 T 1 HYh T §) 3R FARG-11 Seieh
TSI & I 7 yam & aret & & fafim sy o

A, B, C 3R D ! 29ifar |
B
Q 15%
P 30%
40% A
D
20%
I 11

83. IR wH fifvad o= @ S S F wew B,
I A 15% § 3R IR FE@ 24,000 B, @
YaTH i &l AR et wedr § I @t B

% TeEl St we fha # 2
(a) 12¥/@
(b) 1-25¥T@
(0 130@
d) 150@
84. fafir wggl P, Q, R 3R S & o1 ar@ wnit Y
& % offe Sftrehan 37at v @ 2
(a) 1-69@
(b) 1-8WTE
(¢ 249 TG
d 26@@
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85.

3T I 1T qt (02) T F v Refiiee w
fa=ir #ifor -

aaéanana?ﬁABcnaﬁ{BEDF,%m%ﬂ%ané
spfa # fe@mn mn R, W faew i | am it

AB=1cm3ﬂ'{BC=2cm.

D C

A B
86. fdoardl (Sftaedfivm) & w1 e = B 2
(a)

(d)

WAt (Ai-TawfiT) &5 #1 Suwe =
g2 i

(a)

87.

(28-A)




Consider the following for the next three (03) items
that follow :

The following Pie-Chart-I the people
migrating to Delhi from different Indian States
(P, Q and R are three different States and S is the
combined group of other States) and Pie-Chart-II
indicates the different age groups A, B, C and D of
these migrating people for each State.

shows

B
15%
A
50%
D
20%
I II
83. If the people coming from a particular State
belonging to S are 15% and 24,000 in number,
then what is the total number of migrating
people belonging to the age group B ?
(@) . 12lac
(b) 1:25lac
(¢) 1-30lac
(d 1-50 lac
84. What is the maximum of differences between
the number of people coming from different
groups P,Q,Rand S ?
(a) 16lac
(b) 1-8lac
(c) 24lac
(d 26lac
SRSU-T-EMT (29 -

85. What is the difference between number of

people coming from R having age group A and
those coming from Q having age group D ?

(a) 6,000
(b) 8,000
(e) 12,000
(d 18,000

Consider the following for the next two (02) items
that follow :
Consider two identical rectangles ABCD and BEDF

as shown in the figure given below. Let AB = 1 cm
and BC = 2 cm.

D C

)¢

A B

86. What is the area of the overlapping region ?

(a)

square cm

(b)

square cm

(c)

square cm

(d)

square cm

Bl ok |or o] oo

87. What is the area of the non-overlapping

region ?

3
— square cm

(a) 4

(b)

square cm

(c)

square cm

(d) square cm

Bjlon N -ls|,_"_‘.

A)



3717?377:?37#5?#(03)m%ﬁuﬁwﬁf@awaﬂ#wﬁwéa?#(ommmf%%qﬁm%aw
e #ifse - faam #ifow -
mcwmﬁwﬁga%ﬁaﬁzmc:w%lﬁqammﬁ@ﬁwm';"i'qsﬁ@
2. em® | 3 31 9 R 37 0, 3l 0, §, 7@ g | NP0 A (GG TR |
W AR 3 genett # ol wa € S B A § w|(n=314 3R 2 = 14 Afwm)
arepfa & fewman mn § | D o ¢
35 fafteh, MA: MC =2 3.
P
E F
Q
B
A B
88. AB +BC fhas sqat 2 ?
(a) 10cm ’ 91. Y EOF &1 &a%a a1 8 2
®)  12em ! (a) 12-5\/§3|1fcm
(e) 13 cm ‘el'lf
il (b) 6-25§ cm
89. 34 g i fisan = ? e %g 0, WR 2 bl oo
(d 62591 cm
(B -d-J6 :
b 145 92. TH (SHifsm) AEFB #1 &thet o1 & 2
(0): : B4 N5 (@) 30 cm
(). 345 (b) 25T em
: (¢) 2091 em
90. 38 I i s == B e &g 0, MR 2 .
@ 5-10 93. SRR & H Sl F T & 2
. 1ot (a) 14759 cm '
(c) £ ; V10 (b) 14259 cm
d 22_2‘/]3 (C) 72253”‘f cm
d) 9 (d 76259 cm
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Consider the following for the next three (03) items | Consider the following for the next three (03) items

that follow : that follow :
ABC is a right-angled triangle with £ ABC = 90°.
The centre of the incircle of the given triangle is at Consider two identical semicircles and one circle

0, whose radius is 2 cm. Two more circles with |inscribed in a rectangle of length 10 cm as shown

centres at O; and O, touch this circle and the two |2 the figure given below.
sides as shown in the figure given below. (Take n =314 and 2 =14).
Further, MA: MC =2: 3. D (0) G
P
E F
Q
88. What is AB + BC equal to ?
B
(a) 10cm i
(b) 12cm
91. What is the area of triangle EOF ?
(¢) 13cm
TN (a) 12543 square cm

(b) 6-25J§ square cm
89. What is the radius of the circle with centre at

0,? (¢) 12-5 square cm
(a) 4-J5 (d) 625 square cm
b 1+5 92. What is the area of trapezium AEFB ?
b (a) 30 square cm
@ 3-5
(b) 25 square cm
90. What is the radius of the circle with centre at (c) 20 square cm
0,?
; (d) 1875 square cm
(@ 5-410
93. What is the area of the shaded region ?
b 1+26
(a) 14:75 square cm
22— 4410
© 9 (b) 14-25 square cm
@ 22 - 2,10 (¢) 7-225 square cm
9 (d) 7-625 square cm
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7 3 FI g (02) FEIEN # e Refiied w
faam #ifoe

T g et &Eea on @ 31 § it U wweng
e ABC W famm v, e 6 9 & 7 srfy
7 fo@mn R |

il

94. T3 ABC &t Yo it TaTE 71 R 2
243 T
43 T
63 TH1S

83 TH1E

(a)
(b)
(c)

(d)

95. DERRIA &7 1 &6 FT1 8 ?
(@) 6(n+3) 3 31

b) 3(n+2+3)a ghE
1-5(3n + 8/3 ) T 13

d) 6(rn+243) T THE

(c)

SRSU-T-EMT
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37 377 FIT AT (08) T F forw AEfiaa w
fa=r Fifow -

TH gE H W A g Q g9 S g 0, 3k 0,
8, 9 cm 3N 8 cm YIS AT T ™G F Faqwid 7,
St T = & 8 sl & fammn mn @

D

A

96. I gl o & B IS 1 B ?
177 a1 318

16757 S ghTS

16-5m a1 THTS

16-257 I gohTS

(a)
(b)
(c)

(d)

97. HoF Tl fiffea A a s &t 2 2

(a) 0<6<30°

(b) 30°<06<45°

() 45°<0<60°

(d 60°<6<90°

A)



Consider the following for the next two (02) items | Consider the following for the next three (03) items
that follow : that follow :

Consider a circle of area 9n square unit and an|Two circles with centres at O; and Oy touching each
equilateral triangle ABC as shown in the figure other are placed inside a rectangle of sides 9 cm and

given below. 8 cm as shown in the figure given below.
D C
A
. 0,
0
B C

A P B

94. What is the length of the side of the triangle 96. What is the sum of the areas of the two

ABC? circles ?

(@) 23 unit (a) 17z square unit
(b) 4+/3 unit : : (b)  16:75m square unit
(¢) 643 unit (¢) 16+57 square unit
(d 843 unit (d) 16:-25% square unit

97. Which one of the following is correct in respect

95. What is the area of the shaded region ? of angle 62

(a) 6(n+ /3)square unit (a) 0<0<30°

b)) 3(n+2 J§ ) square unit (b) 30°<0<45°

()  1:5(3n + 83 ) square unit (¢ 45°<0<60°

(d) 6(n+2+/3) square unit (dj 60° < 6 < 90°
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98. SRR & H1 SH F 2 2 PR T R e ——

6 Y TG TR 2
(a) 240-10n—-7w O ‘q’rfsa-rré
24
()23 T
b) 240-6n—1 O aﬁsaa'ré
24
© 120-12r—-n 6 aﬁsa»‘ré b)) 2:5
24
240-12n—-n O
) 24 1 ¥ (e) 828
(d)ieb=8

M HR FIt 7 (02) T & v AEfeiyd @
faem #ifow :

uH ST ABCD T 6 cm fireem amet 9t o1 = 2 |
AB, BC 3R CD i &aT8 sWeK & | AB 3iK BD & 100. SRR & 1 IRwTT 77 § 2
E A AYgE @ 9§, e R R @ 0

FeHfd # femmn mn § |
(a) 24ncm
(b) 187 cm
A s < D
(¢) 15mcm
d 12xcm
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98. What is the area of the shaded region ? 99. What is the ratio of the area of the shaded

region to that of the non-shaded region ?

240-10n—m 6 :
(a) —————— square unit
24
T 257
(b) G A square unit -
24
(c) | i Pl ) square unit (b)) 258
24
240-12r—7 6O {
(d) Jubry R square unit BCL
Consider the following for the next two (02) items (d 5:8

that follow :

Let ABCD be the diameter of a circle of radius 6 cm.
The lengths AB, BC and CD are equal. Semi-circles

are drawn with AB and BD as diameters as shown ) ; #
100. What is the perimeter of the shaded region ?

in the figure given below.
(a) 24ncm
(b) 18mcm
B
A & D
(c) 15mem
(d) 12ncm
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= % & forg s
SPACE FOR ROUGH WORK
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el & & oTe g
SPACE FOR ROUGH WORK
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& T o 1w SITg
SPACE FOR ROUGH WORK
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H= T & foTu ST
SPACE FOR ROUGH WORK
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